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PART A: Vocabulary

[ Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

| sentence. Then mark the correct choice on your answer sheet.

_—

1- The book was ~—--ee-——- by a panel of experts, working in conjunction with the publisher.

1) revealed ~ 2) compiled 3) intervened 4) attributed
2- In Canada, drug users belong to high-risk insurance ---———-- : |
1) entities 2) features 3) categories 4) structures
3- The victim was able to give the police an -----—--- description of her attacker.
1) accurate | 2) ultimate 3) identical - 4) equivalent
'4- The government passed a law to promote the - of blacks into white South African
society. ¢ | -
1) integration 2) foundation 3) coordination 4) adaptation
5- Small businesses often have great difficulty in ~---~----- credit from banks. |
1) detecting 2) obtaining 3) pursuing 4) depositing
6- Feminists say that the book was written from a male ~—--=ce--.
1) objective 2) inspection 3) perspective 4) presumption
7- Violence is just one of the many problems -——--— in city life.
1) explicit 2) empirical 3) available - 4) inherent
8- Legal requirements state that working hours must not --- 42 hours a week.
- 1) assign - 2) exceed 3) utilize 4) undertake
9- The Highways Department is responsible for the construction and ----——-- of bridges and
roads. '
1) equipment 2) adjustment 3) manipulation 4) maintenance
10- Maxwell’s responsibilities -------- -- yours, so you will be sharing some of the work.
1) overlap 2) affect - 3) identify 4) coincide

—r—— e ——

| PART B: Grammar

Directions: Read the follo ii!ing passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

Since water is the basis of life, (I 1) -=-------- the greater part of the tissues of all living things, the
crucial problem of desert animls is to survive in a world (12) —--------- sources of flowing water are
rare. And ‘Since man’s inexorable necessity (13) ---=e--m-- large quantities of water at frequent
intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (15) ==--

B a single drop. |

11- 1) composes 2) composing 3) it composes 4) that composing
12- 1) which 2) that 3) there 4) where

13- 1) is to absorb 2) of absorbing 3) that is to absorb . 4) is absorbing
14- 1) scarcelyhecan - 2) he scarce can 3) he can scarcely 4) scarce can he
15- 1) for 2) from 3) upon - 4) without

Min&QNQ,)@M}'@HL&)KQ"W‘,)L"@PT
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PART C: Rprensiun

Btrecuans Read the following three passages and answer the questions by choosing the best |
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. |

Passage 1:

In practice, some sociologists combine different research methods and approaches,
since different methods produce different types of findings that correspond to
different aspects of societies. For example, the quantitative methods may help
describe social patterns, while qualitative approaches could help to understand how
individuals understand those patterns. 4
An example of using multiple types of research methods is in the study of the Internet.
The Internet is of interest for sociologists in various ways: as a tool for research, for
example, in using online questionnaires instead of paper ones, as a discussion
platform, and as a research topic. Sociology of the Internet in the last sense includes
analysis of online communities e.g. as found in newsgroups, virtual communities and
virtual worlds, organisational change catalysed through new media like the Internet,
and social change at-large in the transformation from industrial to informational
society or to information society. Online communities can be studied statistically
through network analysis and at the same time interpreted qualitatively, such as
though virtual ethnography.

What would the best topic be for the above passage?

1) Combining Research Methods

2) Different Aspects of Societies

3) Using Online Questionnaires

4) Transformation from Industrial to Infarmatmnal Society
According to the passage, different approaches of research -
1) could help to understand how individuals find out social patterns
2) produce results that correspond to each other

3) yield different kinds of discoveries

4) may help to describe social patterns

Sociologists are interested in the study of Internet, because ---~---—-,

1) it uses paper questionnaires 2) it is of interest for them in many ways

3) it can be used as a discussion platform 4) 1t 15 a tool for examination and exploration
Sociology of Internet with the —---—-- involves analysis of online communities as found in newsgroups,
virtual communities and virtual worlds.

1) definitive intention 2) final meaning 3) initial explanation 4) utmost interpretation

The author finally concludes that online communities can be analyzed and explained ----—-— —.
1) both qualitatively and quantitatively

2) only statistically through network enquiry

3) only qualitatively such as through virtual ethnography

4) neither qualitatively nor quantitatively



Passage 2:

21-

22-

23-

24-

25-
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e | (NFeuS) panasi o)

Social research and social science in general is based on logic and empirical
observations. Charles C. Ragin writes in his Constructing Social Research book that
"Social research involved the interaction between ideas and evidence. Ideas help
social researchers make sense of evidence, and researchers use evidence to extend,
revise and test ideas". Social research thus attempts to create or validate theories
through data collection and data analysis, and its goal is exploration, description and
explanation. It should never lead or be mistaken with philosophy or belief. Social
research aims to find social patterns of regularity in social life and usually deals with
social groups or aggregates of individuals, not individuals themselves although
science of psychology is an exception here. Research can also be divided into pure
research and applied research. Pure research has no application on real life, whereas
applied research attempts to influence the real world.

What does the passage mainly discuss?

1) Social Research and Social Science 2) Patterns of Regularity in Social Life

3) Pure and Applied Research 4) Foundations of Social Research

According to the passage, social research relies on logic and ---—-—-—-.

1) interaction 2) observation 3) spiritualism 4) transcendentalism
According to Charles C. Ragin, ideas help social researchers ----—-—- and researchers use evidence to
expand, modify and examine ideas.

1) understand complicated data 2) stop behaving foolishly

3) give meaning to proofs 4) have an understandable arguments

Which statement is NOT true about social research?

1) It tries to develop theories by means of data analysis

2) It aims at exploring and describing facts

3) It makes an effort to confirm theories through data collection

4) It deals with a type of philosophy or belief

The author finally concludes that -———--—-—- :

1) there are two types of research and that one involves some application on real life

2) there is only one type of scientific research which tries to influence the real world

3) there are two types of research and that none of them has any influence on social life

4) there is only one type of scientific research which attempts to change the imaginary life



T’_d.n.i..:-

MF-u5) pavaxi )

Passage 3:

26

27-

28-

29-

30-

The Du Bois Review is published by Cambridge University Press for the W. E. B. Du
Bois Institute for African and African American Research at Harvard university

The journal was launched in the spring of 2004. It is a scholarly, multidisciplinary,
and multicultural journal devoted to social science research and criticism about race.
The journal includes a range of disciplines, including but not limited to economics,
political science, sociology, anthropology, law, communications, public policy,
psychology, linguistics, and history.

Each issue of the Du Bois Review contains between 200 and 225 pages and has four
major sections: The first is a Statement from the Editors that provides a commentary

~ on the state and the study of race as well as an overview of the issue. The second

section, State of the Discipline, presents lead essays that synthetically critique broad
areas of research regarding race. The third section, State of the Art, offers three to five
major research articles. These articles are peer reviewed and rival the quality of those

published in the best journals in the social sciences.

What does the passage mainly discuss?

1) Journal of Du Bois Review

2) Social Science Research on Race

3) Afnican American Research at Harvard University
4) Commentary on the State and Study of Race

According to the passage, the journal of Du Bois Review - in the spring of 2004.
1) achieved its objectives 2) fulfilled its goals
3) was accomplished 4) was established

Which state is NOT true about the Journal of the Du Bois Review?
1) It is allocated to social science

2) It is academic and analytical

3) It is devoted to criticism about race

4) It is limited to social science and American African culture

One of the primary sections of the journal involves ——--——--.

1) leading essays that carefully examine broad fields of research like race
2) the most important articles that deal with African American community
3) main articles which carefully question wide areas of research about race
4) the foremost essays that synthetically discuss race issues in America

It seems that the author -----—-- the fourth section of Journal.

1) explicitly refers to 2) implicitly speaks of  3) never points out

wﬁwQUU,)GM}'WM}UQEW"}‘#'@?T

4) very clearly brings up



8 daxio wlbididzole slaas Jki
181 31 dxaler 4i 04l o 0wl droly 104, alizel 4 Lo

wed g (8 s (v =590 & 5 o)k ()

Pl (5,18, (pulidanale (goloy publis 335 S plus

g 51 (Y Sa 523D o095 (Y *ez Glaerg ()

Tl grms Lo ) 0380 30 0,158 plus

el Canelonyt (oSG lad L (Y R RN L g PURCL PR KUN R g

A5 o0 0y |y Cundlony] g e dlF ) LS g0 (F ] S Jlosl (350 b5 (Y

: Tl Hlotl (g3ur 4z 52 drolr o bl Ci5' 155 S

Sy b S8 )20 (F Cuslail 120 5l (5 95ms (¥ S5 s (¥ oledl 33lgs ()

73,ls Gldail g0yl sy b ads 38 olus

B3 0 oM jalls 595 (8, 4 5 ool IVazll Ll o 50l (689290 i ()

ol (51 gl 63, 2 iblse 5 S (JYml 2 9,500 (G392 90 12 (F

SCL PN 59yt ik zp 5l sole L3, o4 o ele (539590 Vol 2y (Y
?&ﬂ‘ﬁﬁ.ﬁdhﬂjﬁdﬁ#ﬂb,{ﬂ&}hﬂﬁjﬂﬂaﬁf1ﬂ
.JJh|JJF—GR1JUCJLAJM¢L-?ML¢P&MPM(1

A5 g0 383 oo @l Jaale,w o SN ail 5 coula MG syl Jole lawgin ailo (Y

| iﬂjjﬁ'{fﬁﬁdj-_-l'-"‘:_-ﬁleCﬁlﬂé@ﬁﬁfh;ﬁjLsﬁjhjﬁ@}-ﬁdjjﬁjb&ﬁjmglﬁhq}hﬁfhfr
g ol ;50 Slide ooy o)ly wild o Joasle s g bjlg p did g0 5l JS2za ) (5 hodsle o pllas S e (F
....."..."“.-.-.\._-‘Jh# B N I

ol (g8 Jazsl (¥ ol el sl ()

Aasaa] 5_;]&1 ,rnuii L_r,"rjl-} e JL:G.H (t ] {sil.ifi.lﬁ.: 9N g Jld..'\j] (¥

fat plas 51 5ilio «yad g (Silgro» GBS ()b 3 9595 Jlao

€ gyl » A2l g g (Y 47 g 298 ()

il i 4233l g g Sl (F S5 Sl (Shee 5 a9 (F

Tl selogal Jo5 g5 az b bLI )1 55 (Rel,5 )lasBl g piawsas 5
i) 4 Belaxe  Dlae (F Sus 4y Bglaee  Dlic (Y i (T sable (V.
' Touw | Gy (ndannd a4 185 0 80 0 S plas

analz 3 oolizil ngd Ky a3, (Y 39240 Coandy Jido ()

el bl aan O los  fuls o) £4,5 akadi (F IS oo 1 las a4y pmes S (Y
rawd 9 05,1 Sl S uss b ads plas )3 (3BT 11510 5 ds Jl5 g Sidgte ]300 s i

s 1S Lalos (Y L s L Sl as ()

A5y bzt 1 Fals) gls yela ) a4y s (F 25yl AT bl sie sl ) (F

L — olopld o 59 i 5l o sloial glacuays

Siglisn 3979 4 €955 Sl > Jlgj 4 9y s e 4 ()

aislin 292y 4 €93050, SlaLolEs DG P (sousdy (i cle 4 (Y

S e LS STy eanalh € Sim S e ni B o €S0 Sls ? laszd s o (Y
e e GLS STy eanlid (Sl SIS g 588 il )0 (F

Tl oS & y00 ole 39 Gl Coms § ylassul galiane 51 Cdy o959 ofy o ole b i 51
j P'-"J‘-'?s-r" ) Cuidie yaze wb ()
oS lals 510 Sl 1) (5590 Codlie Wl (¥

oS Lol 1) Gl ol g ol glen (S ala, by (T

S92 0385 (e (Lo Sl ooz &5 020,52 Ll galy> 55 & b (F

Tl gloss sy £95 4z (AT Jyugn 5L

claszt (F om (¥ slakal, (Y T eayd ()

1ols )13 sode Jaloxi 3590 olgi o0 1) (oo loizt Gl sy yold 51 G plaS (g 0,801 0e 5 &

C,l:.’:_:;\rwﬁ A1 {_,Ef.::..:.ﬁ g5al8 ()

w21 O 5l (goains (sa1 25 &5 elada] Counily 4,005 (F reians ($41)25 90 (oelalar] Cuuadly 5,015 (V
$09500 Yol & pilsl pais wstlaial slacwaw 4 asuoly Hlussl . wliddasls plus gla fulxd 4o

Oy by (F Fagh kS 792 (¥ Bygusyls Al (¥ e Dy y0 ()
Togas oo (ol Jhicaolo plus Lo jlecw! Jeld o o0 ,5,15 LG, Lol 920 (o ®  calo>

o o,ll (F Fyyly Sg8IG (¥ rsk S (¥ Ao iy ()

-FY

-F¥



M)‘wm)b’gpﬁ'gaaﬁégugg fw)ﬁm -

s —— R TR PR S =
ol (50 4 g (o dao Sy gy 5 ol )SS

), 5 prelaFly) antsgl ¢(5 9k Canize ()

oSl 9 e g5 125 JolSS i gle Cuniis (Y

SOl g o200 ol Scsle o Jlal o136, elaza] g ls (7

I pestlaFly 5 (olo22] gt 0y ¢ Ty (215 S5 0Lzl (g y5b0g (F

@UT (il g 038 0 o AT il a5 3,10 Jlii 131 Line ol JoF (chiaT 395

Sy S8 elaszl plie y Jline 5 o (Y lige 0979 41 (F395 3 (0
el byl grie collad Jols 6,0 (F 8,6 sloial gaie; 4 o, (Y

0 psor 01y oo ki ax ooladal iy a5 0 )1

b8 515 _ ) £ sl ()

ilodel 3425 a5 p2d5g el j0 &5 olaay Ja (Y

losal 3929 4 ol Far25 g 4126 gl p &5 plaey i (F

7097 5 Wlp3 e (i g, o omilid s ‘-.»liu:"_d—‘s (=5 (F

Il juigSil gy (Hhli g Gum Wiz ulidianala SbLAS cp e a0 ol 35 plus

3y 4l 9 S e acdd (¥ Pl 428 g (25 4035 ()

L2556 paln )5 4ndd g drala (50,55 Saog a0 (¥ Gy Saagyora 4ol g 20l (g SIS 5 40l (V
Tl 00,5 /a0 50 s 15 S 1) 3,551 (5 3 305 5 9 ple Jyoud caralr (69,515 Sy ool ans

72999 () Sazgpl (F Fasly <SIG (¥ o e S, (¥ 290 Spehs ()
o S, huﬂﬁaﬁﬂ#d{uﬂﬁjﬁhuﬁjéu{‘;gLJnhépﬂﬁn

297 Sl slaggglgianl ()

ke 59,88 b ) pluil g &5 olags, 5 (Y

o lidanal> s 50 booludl oFT codels Lol i (Y

Spse gy pludl JalS' Jgou 5 22 o] Jeolo o5 0,6 iy, 51 S5 (F

Flumna 31 €015 o niuo amolar (399 &1 S » 45 ol 1 e 0SS iy oy gL

JKa (F oSl (¥ cSls (Y oS ()

0,18 Cabillan iy 1 o25095 3l paf 590 Jaloos b iy 3¥ plas

sl 25095 slazs] Llos slop; o col adis 5l sagai 534> gl saze 4 ()

Hbndy Julo €ailalys So3 ¥ 25005 g 3k SLEoly) cmes lalsiogs 2505 ol 5 & (Y

iy g0 GlSe o] ZSllasal> Lo 41, Jhogs Jy aneils roaly glezat g adi 25lllg, slaacs of (Y

ol olatz slag s ] o 0iiS peani Jale (Jy ol 0215 K8 25395 (gl Lty SSol of i (F

P il polidiaraler IS danngs o dls (K3 Mg LS

0395 o o (F Oeeles Al (¥ FbJie (¥ gyl S8 ()

§0,05 392y (ol 4z adlai g AL ylas o Jullia oS o310 54 b5 o 51

)l 3929 93 Gl O (Sl phuiz ()

Coetd i S bKin b alad o oled sl Jy )b G95LgS Jlae Sglize clacsingd o loallis (Y

Lol sline g azad a5 olis |, (sandly zen EECA 9 3935395 a4 bales Jy s o 5,500 s olo g ash ol Laolas (V
: D J|.: ﬁab JI _,5 L5

Sz g 3830 Gl | (oally s Lo 5 555 (095 4 bosles Jy iintiigal 6,50 o3 sl g 55 & o5 et (F

LY Ji.:; L-;.}'f.} _,i Ji
foslo g ailly» S5ldanls Jula ay oS as
oty S5 (T Jasj OF 3ol5 ()
Tl Jils plas” Gz galowy (b «olo b piasnsun 43
Seigieyn (F B &2 (F ol 0
Ty Cudo 40 51 9lile (5l quwlidianalsr 4
S K8 cladees b L35 (F oollads 15, csef 1 OF bl 6 Gl (Y bl o G 4 deags ()

-



w3l (b y5 490 3T % el @9 S ;
o N )0 (90l (e w09 o oliyin T

oleal jimm Yo ol ojluilinl Gyl g cunl lagi H13e Y00 o208 - LiLD 51 (Lii FA00 paxo ) Jlasol glaiges wol yo d.:LEEn
fowl jode awe 0 40 lisbl phus 35 428 ulell ,_]ImTJ.a'o._.!._ili.. Syal

‘Y¥o —--YYo (f YAo -=YYo (¥ YAA--YoY (¥ Y4¥ -- Yo ¥ ()
foawl jada (558 F oyl odlpils Ky Wi ¥ ooe 5558 Jlazal
\ \ ¥ T
- (f wllL : . = ()
y A ¥ . ) ¥ : 1
Tl jaia Al 0 (090 8 30 Jol &F ol Jledo | oS QLSS (olai jab 4]y a5 93950 ¥ 3 35 8 Jolb 0 )8 Y (89,5 oy 51 51
\e ' o O \e
— (f — - — (Y e { Y
Yo Y& Y\ ¥4
Neani | 4yl SIRA
: e Y (Y
o=l | YL rlglass olf (¥
Voo fo i) o /b (¥
Vo Yo ol
VS 8
Pl yali 20 40 oly] RS yuaid asld geme w yliae;0 Yo g wilosls gf) dasl & 4 SO LS Lw woyo Yo
o /¥ (¥ o JAY (Y offo (¥ . e ()
- ' ol yuito 99 (nl (ot Slab) £95 43 Geen X 9 Y Sy Jloged
. _ it g all, €T
s- | g gt g daly (V
" poins sha 5ol alal, (F
y . osSxe oy alay (F
" .
s 3
0 }
0.0 1.0 2.0
X - :
el jaia 550yl Sloo 15505l Oliee 2259 J9u2 Sloedld & 4y L
A0 5 63, ljae 22393 Y O
el - Gk Yio (¥
P —y . Yo (7
F(F
Y | F—F Sl yaizr Jod Jlow Jooz (55950 (aSilee
", y-—1q . 7Y Q)
Y (Y
10 | JS AR
o W
Ol iz 5V Jgos J3ia 3 (53954 Wl 31 Iyl 3llan 533 by
Y/ (T ATASNAY YIV (Y YIf QO
Tad Wbl §OUE 42 paiF 3,5 (wbdS &) JLae] o3, Sy &1 1) AIAF 51
A (F MY (Y - AR | q ()
Y (f Yoy : o b (Y oYs (A
: Connz V/F oul 0,8 pue Fuds dg0o
YIf -V (f YIYO - YITD (Y YW —-YIf (Y Yibd —YIYO (A
ol s Blis Joua X 4 Y (y9mw S b5 (D) asgl; cu pd
Y X -Y.()
o o =Y (¥
¥ 1 Y (Y
F Y Y (F
Ot iz J3 I X 4 Y g0y 15 @) lise 51 252
-F (F Y (r o (Y O

sl yakz YT Sl X @Y (y90m %) (F7 ) ioaess o 6
o/t (¥ efA (Y o9 (Y Y ()

MMQNU,)@M}'@HL&)KQ"W‘,)L"&PT

-F1

58



o of @nm)l.f Qp}TMG‘QN -9 fh“mﬁ)ﬁm

5L Lof

A axio T S8 5
9,00 3929 Ad (lawgio Gl pil) Sl il Gllae yud bawgio 9 O (3 lailiwl) jlure Syl oy gladuly 4>

\

cr=;Ad (f og<Ad (v o=Ad (v c=Ad (
Pl cawlin Jge )l 4> ilide gliog,S a5 Sgldi (o410 Sxe plaw aukid olyp
F 3031 (F T Hee3l (¥ et o p (¥ 99,5 Ge03l ()
LT do> ﬂ-:-.-.g'i igm""“.?:‘:““ "I-J"‘J'b l...i."i. 30 L,-l‘)[f [T i;rl:ﬁ.i a;r,lii ':ﬂ.nji 3
'I.J"']J':' CJIJH !"LJ"J':' Lﬁtﬂf {‘1" e i;ilj.ﬁ.; 9 U!JFILJ:JM alass {‘l
W £ 5 op® Slyes (F 0730 U 5 yd S (F
Ol anilio (g l0line Zelaws yg03] plas 80,5 Lway 10 50 5,9yl dslis 5o
o (F Al VYO (Y ofA ()

Sansl ;10905 31 Syl b Sinlan L 37 Mans 3 il &3 oo dlasly Jgdo Sledbl 4 dogi b

syl " /—\ 5
699 | bawgie | s | SMans .

W) ¥fo| Ao ol |

Yo | Voo I luwgis | e

Yo fo| o i p ¢

seesenanensenas J5 drale jluie b diged Jlode Sglii 4 Cowl glaais &I e pdans

A Conas Bobad Sglis @ 1) o] les o 45 ol o5 jais] (Y ol s Bolas Siglis a1, o] Olets a5 ol ol jamst ()
3l 3929 Mol (F Do S Bolar Siglis 4y | ] le &8 s Jaiil (¥

Tl iz ol i 4 00 5 Wl glodils (gl Ukl 3590 Silalyd o Jolio 2599y

& B A bo 4Yo ()
: Yo ‘!Tﬂ (Y

o 63 Al C 10 4 VE (T

Yo 3 z D V¥ 4 V0 (F

Yo o 3 E

'iﬂu "fﬂ- T'U H

Pl gy B Lsgosl 51 Saphal’ 3oy 51 (31 085 09 S 3l oy g o oM S Doy gl il dos o
e Ko g5 (¥ S ike 332 Gyt S ()

Lo sladigai U T (9051 (F b yayd sladipai b T ge5] (F

fCal iz Aluly (PaFld U cyaontd oy Al Aamily o 0 ST Jilio Jgor o

Yo (f

MMQUU,)OM}'WM}UQEW‘,)L"&?T

8 X

Yo (Y

o\ ()

3y il oD (Y
~ : o YD (F
\ i e
v r

YAo ()

=7

byl e 1 (238 vy g YAO O Lyl Wl O 553 Sy 0udh (Gasgiy el ) 5T ol ys g oo w03l s dlaly S p0 -AF
Pl jaiy (yguu )5 ) b rglj cu jb adlh Yo 0 0



A 5 Pl g8y 20595 SN S Jlgw Jgur 42 axgi b -AA

s | /‘\ : /[\ |
YAL™ a2 %

()

T il yle6 g yalyls sl yee;l jo —AQ

Jloyi et 2398 9 Olusa (F Jley 2598 9 Gl (¥ JLerinf j9 9 Sglate (V Jboy @597 9 Sglize ()
Sl plaS Vo jlkia (gl (Z) 5 yhiiliut 6 yes wiBl YO b sibys railao 9 YO U yilys il slacas o7 K3 55 )51 =4

Y (F old v -0 b (¥ =¥ £}

MMQUU,)GM}'@HM}UQEW"}‘#‘@?T



o of ‘su&ia)l.f Qp}TMG«jL& -9 fw)&w

N dcis G (9
foawl (i Giﬁ.ﬂ&a £ an Inl..'l.f asjlls, -4

Al (gloms Gl 5 (ol 23 L5lY S (gl 2l 5 o3lal O

Sl ol S 5 (F etz s 7 S gl 2o 8 it (¥
ol (Gl g0 a2 a9l Judoi  -AY

ol 4255 1.5 0 500 45 ol leosly s (¥ ; laesls 3l pgo al> e Ldo ()

T ool 51 aa Laasls Judows (F sl 02 Julo5 g (5,915 8 33 a5 el plaeols Julos
fuml glaaillae £oi 4 dbd 9 B, 30 5l Sy 50 Olgle ilpoge AU Jexi cwypm  -AY

sl aalllas (F slins aalllas (¥ (sPass gy (Y Jibs andllas ()

P ooy Julow o (ecological fallacy) Jooe abflie  -4F
S phaw o Llog g Sledlll (5,410, (Y (978 a3 Julod 9 (605 e 10 SNl Syl S ()
5295 o 3 o 5 ST 05,5 (F 50,5 g 5 Lo 5 Loy, s 55 UMl ,510,8 (F
' 1995000 Jlat 4y oo juf slahy) g3 ST plas 40

d=las (F 7 09,5 (¥ sl L= (Y & ygas daliioy ()
. 13500 S’ fulo3l Tb b (J9lih dr Sy (yg0jl g 9 JT 09 S g 47
asl el 6y 5 35 (F ol g3l i ail (Y ol yg03] s 2315 (Y ol ytola;] 2306 ()
' ?mgjn-]ﬂ.l-.hﬂ-h ‘ru‘)s.nbuiﬂhiﬂ_lrumlijb d.h.llj iﬂlhﬁjﬂ -1y
sk (slaolys (F ol il (v _ laglosles (¥ b )95 (}
............... adyly Sovasod ol Gl 438,55 41,8 )y )90 &5 Abl cogu juiio Ji 3 u.ull:.:.l.-.n,#,mﬂnd.ﬁ sadline  Sonod 51 44
; gl o odilas
o3 (¥ e (7 sh e (Y shs ()
T T LT T — Gadlhe whalp Jliwe Gadxi  -44
e Sllas galeud (Y u:.;l.u:l Shse 50 ohalesl ()
™y slocx! glalaas clovnlis (F Siloee 385 i 0 iolews (V7
Yo l.}t ol jly 8 JLo 1P Wigw jadS ;0 CMluan pafile 9 wdb Jlw yiuo 51 gili,le g Jla VP 5950 )9S 10 e pafiles 1 Ve
................ 030 CMmard | SSad 4F g g oo Al il e
ol il jetS g0 00 (F il YU el g ,m (Y ] iy 505 (Y sl 2ty W ()
.............. L;“..l'ﬂ a4 cuul ':JT Lyass L-,'-'-J_l.n_-,i N e ylasl =Y
.1..-...-.:! |-."a_,5.=-_f‘5=l=.-.afl$u....ul ](f |_u|ad.¢rbu!a1.§.....rl¢] I'_,j_,..a_,.:-{"."
\EPILETYE uﬁL—nm 9 Cd gty 1 gl oF o claduly dor (ol8alB] ¢ CMarni i y gt & Wy Jodo glodly 4 axei b -1eY
: R S
2 by R g TN
Sk Shazs ol sy Ssg (¥
bl A b omb ks S (F
Ao o Yo | Yo '|“_,'n . ‘;‘FL‘
Yo &o Yo Fo ol
fco Ao Yo 1_::- JS
| $3)10 3g2rg ¥k 3 olSialdl s (ol 4z Jud Jlgws Joir 4 azgi by V¥
Tl cilin gy 42 5,505 p cloia] sladigw i P ely  =1F
u—a'.a }'{T' u-...rl...-.- (Y |3,....:1..¢ J._.‘.I#___u (Y 1_"."'1"1"“""' Ctacs d..rJI.E..- ('l

: ?l-.-wlﬂh r!quld_r;#’.m Ef dq'u_JF #ljﬂﬂt’lﬁﬁmtuw

- Sheages (5 S aigei (F §lS93 (5 S digai (¥ ools (Bolai (5,5 hgei (V29290 sloojem 4 IGICY
................... Cotdly ¢ gjalguiogil galolyl jo  -1ef

el g3 (Y Sl c2le3l (A

5 3924 (¥ el ol S Ll wlol )b o coadly ans (7

bogin 0o -1 1 a5 by oYl il deei 10 GIVFAF L 1YYo S Jle o oud 15.1'.!1{!""" soeoly i solicwl b u,n.im =\-¥

ITAF G AYYA el oo ol Sludc o Sy aidl palF \YYA U 1YY s Jlw o Jlw FO 35 olydl oyl j0 Gl g

S 423l AlBENTYYA B AYY e ool Ot Jlw PO 31 s 31,80 4les 4o whoolkd e buwgio a> =T og aidl  Aul5dl
Tuieolas aalllas ol 4o aﬁ}nﬁhnﬁwk#ﬂ

- s ":'M‘_.,n @M!}gﬂhﬁh nﬂdﬂéfwlmlmdhﬂﬁ,‘ghj T PY-R T §
E—m‘-_-_-rdl-ﬂ-'dt (f e J..:I.-{'I' Oyhe (¥ el by 0



b 51 (sl 315 (39037 (i Sl g S s e
VY doni L N B
T oo Cojle plus .Cunl ould o3lo el & F T fetuw a5 ol oud 740 @udxnd (code book) Se oS 0
A3l s A8 Cl 5 o8l 1 e w810 Blad 4 (Y il Sy g0 e SO e ()
A2l alls 880 S See S5ualy o Jipee gl Blod 4y (F oty e 100 ol 5Siae S5y 225y o5 125 By (F
FCwly 9 X ploe (Fouon 391 5598 il p1j (ygaw )5 ) SV las j1 Sy plas
sl Sl Foose S AT Y ¢ X 51 gladoles (Y D55 end g5y Aolia b ples cai |y Foeean g3 ()
Y=Y+ AX (¥ y=Y+o,¥X (¥
" o9 g0 g1 yo (il )l 4z &) 0 pube}) J>1 50
il ple Lad Jguo! oo )Ll Conl %0 a5 o 1a Rl LS ol gzt (L o oelazal Suij sloogls sunlin (I

10,1 (FadaT dz (g yuiin (i O3 on (GRS (yladens § (5304 SN (i s loie 4 s  Souly yuiio 45 Jloj
o9 JelS (¥ el el (7 (peadl daile) ails g0 pasTH & o b (A

) ?aﬂuhun = :dﬁwﬂ. U:.ﬁii lJ hd-g-]-’l-‘l- '-rilll-lnll 4 "'r:‘u‘ i_gjjT&n.ﬂr Sledb) ‘:J #JL!J# 45 G#lj

bl o=y (¥ : yaie (¥ & oS Wgad gzl (¥ olex (1

ol us Conles o gl 3,5 N hcﬁ bgoys law Jd=o yol, hai i sloas gl ey |y Jbls Haes Fuij Cunlys oo Ijla
whl a2y o1k 4 355u9) S s gl Bl G S 9 (Sui) Go)lys Ry 3 JolS oyl g dngdy Jol jab 4 1 Lo
S g0 085 f i

N DY S P Y 53l (1,551 599350531 (1
Tl o bl Sl gRwly colind gallins 4yl Jlosol cOledbl (g 50T pan lBSLEST 51 Suplas 4o
(Joe o) plie ot slo e (V oz 4o swalas ()

-, sleacliio, (F a0l slaoals |l (Y

Yozl Jitue yaiio € Jlud )3 o5 olee 30 Jid slaculad 1o sol5 glacgliin o yle yo

el €L (Y 2 4lai dgg ()

el & Jads clad» (F ol #3152 (T

I N — ezl ale glaa Sl

Sl 4 & Wijloyy oo ez L3, 4 (F 5313 250 9,35 00 0,9 (399 50 4zl & ()
o B8y 4 & Wilo e 50 5, 4 (F W3R yen (Faij ol gloodgaza 0 03 )b, 4 (¥
: L A af 3yl !S5 Ldi5 £oi o

it e K o s 4 395 Slidiog 3 pliddadls o SlbLs )l pgle wiS asia ()

S35 )5 4y o p)5 Dlades o wlil) Julod slaasly a8 (Y

Wyl 4 Gbls )l Slalas o Wby elazal Olil laid a5 a,4% (F

Tuig 1 513 el 9 Jiiamo (510 yaiin (put (e (Siunrod 0)l0)8 SBLE (lyic & 4 Col ol (glyt aswliT (33 530S (51515 3590 plas
iy = S5 (5390 dalllas (P (9051 Gy J5255 098 25k (¥ Oyeslz 09,5 e b (¥ SedlS alejl 250 ()
Tl pele Jlme g9 4x 1 Sl ol 6510195 2 e FRe G 65 0 ASLE 4 pS dw o YU San

(Validity) ,Lze! (F (Rehability) _LL (v (sxly Zade (¥ & pdsyga;l ()

-

-1y

-1r

-1\¥

-1b

-W\¢

-1y

-11A

-4

-7



	00
	ACDSee PDF Image.



